2(x) = (o +0\)L(W +b)(x —1-c>
Hx) = (X -3)L(_f><-}-\)(k-—5‘>
When =0, H::—-a‘

L9 = ke (3Y0)CE)

A \CCODC"S)

._._O‘ = --L(_S‘\C
]L-Z :j—- = —-,-
% 5



Question Generic scheme lllustrative scheme rcmA::(k
13. o' state repeated factor o (x—3)2 ()() 3
o’ state non-repeated linear factors R ( )2 (x+1)(x—5)
o> calculate k and express in 1 2
required form P g f(x) - E(x_3) (x+1)(x_5)
Notes:

1. Do not penalise the omission of f(x)= or the inclusion of y=.

2. Accept f(x)z%(x+—3)Z (x+1)(x+-5) for .

Commonly Observed Responses:

Candidate A - incorrect signs

f(x):k(x+3)2(x—1)(x+5) ;

o'x olv,
£ () =5 (x+3) (x=1)(x+5) o

Candidate B - incorrect repeated root

f@)=k() (=3)(x-5)
f(3)==3(r+1) (+-3)(x-5)

03/1

Candidate C - incorrect repeated root

f(x)=k(x—5)2 (x+1)(x—3)

Candidate D - incorrect signs and repeated root

f(x):k(x+5)z(x—1)(x+3) ;

o'x o2V, olx o2x
£ ()= (x=5) (x+1)(x-3) » £ ()= = (+5) (x=1)(x+3) o
Candidate E - irzmcorrect signs and repeated root | Candidate F - use of a, b and ¢ \
f(x)jkgx—ﬂ (Zx—|—5)(x+3) Vx o 2:1,_i=—5 o b=-5, c=1) 2y *
f(x)——g(x—1) (x+5)(x+3) oy k:% DN

[END OF MARKING INSTRUCTIONS]
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